
Fill in the correct numbers.

4,000 g = kg

5,000 g = kg

12,000 g = kg

14,000 g = kg

21,000 g = kg

3,920 g = kg g

5,984 g = kg g

8,002 g = kg g

4,015 g = kg g

11,011 g = kg g

12,333 g = kg g

3 kg = g

4 kg = g

10 kg = g

20 kg = g

17 kg = g

3 kg 565 g = g

1 kg   10 g = g

4 kg     1 g = g

10 kg   10 g = g

12 kg   15 g = g

  4 kg   30 g = g

Name: ________________________  Class: ___________
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Answers

Fill in the correct numbers.

44,000 g = kg

55,000 g = kg

1212,000 g = kg

1414,000 g = kg

2121,000 g = kg

3,920 g = kg3 920 g

5,984 g = kg5 984 g

8,002 g = kg8 2 g

4,015 g = kg4 15 g

11,011 g = kg11 11 g

12,333 g = kg12 333 g

3 kg = 3,000 g

4 kg = 4,000 g

10 kg = 10,000 g

20 kg = 20,000 g

17 kg = 17,000 g

3 kg 565 g = 3,565 g

1 kg   10 g = 1,010 g

4 kg     1 g = 4,001 g

10 kg   10 g = 10,010 g

12 kg   15 g = 12,015 g

  4 kg   30 g = 4,030 g


